FERERFELDHCHMD - |OD WK

o5 2 il EGRER

I7TETHS 217

T6 H 1717
I(n)=n! — Tn)=n-1) Fzi& T(h+1)=n

99 B 917

—T v
/ sinz dv  — / sin? z dz
s —T

77 H BE 1.(4)

e = fol erdr — TQ2)= [T e zdx

105 E 31T
21 11 . T 2 11 .
= ——cosnm + — — sinnw — = ——cosnm+ — — sinnw
n T |n x n T|n
105 5 6 1T

2 1
f(x):2Sinx—sin2x+§sin3x—isin3x+-~-
1
. . 2 . 1 .
f(x):281n33—sm2:v+§sm3a:—551n4x+-~-
181 H 61T
=49t +8x+3 — x=49"+8t+3

181 H 1417

2.2) 377 =—5p — 522+ C0=—5+C
182 H 117

(2) flle)=3V3 — [flx)=3x
183 B

66 R— 1.(3) &3EHN

1.(3) 1

183 HE N5 31T
1.(2) In(e* —1) — In(e* —1)+C

184 B 817
1. (1) f'(x)=2%In2 , L
1. 1 = =
e . o
(3) f/(fl') _ ﬁ z In 10
184 E 1417

2 2
_ 1. (1) Zhz-2 40
1. (1) Zhe-24C (1) 55

(2) 2mn2-32
(2) 2mn2-3 — 4
(3) 2m2-1

I

2020/07/21 ST



